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General Instructions
(i) All questions are compulsory.

(i) This question paper consists of 14 questions which are divided into four
Sections : 'A’, ‘B, 'C'and 'D': ' ‘

-~ Section A : Question No.. 1; bf this Section has Jorty (40) Objective Type
Questions. Each question carries 1 mark.

Sectidn '‘B': This Sectzon contains five questlons from Question Nos. 2 to 6,
each of 2 marks.

Secfion 'C' : This Section contains five questions from Question Nos. 7 to
11, each of 3 marks.

Section 'D' ;: This Section contams three questions from Quesnon Nos. 12 to
14, each of 5 marks.

. (i) There is no overall choice. However, an intemal choice has been propided in
two questions of 5 marks. You have to attempt only one of the given choice in
such questions,
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- (1)

(2)

(3)

(4)

©)

(3)
SECTION - A
gug - 3

(3++/3)(2++/2) H HMA .......... ¥
The value of (3 ++3)(2+v2)’is :.......... g

Frer & & - il s 7 2 7

A V2 - ® o |
©) 4 g | D) V=16
Which of the following is not a rational number ?
a) 2 "~ (B) O

C) 4 ' (D). J=16
|16-§- % T ' |

@a 4 . .B) 12-
€ 8 + ' ia (D) 48

Value of 16=2—_is :

@a 4 | B 12

© 8 _ | (D) 48

1 | | | g
m%s&raﬁrqﬁ&qﬁﬂrmﬁwwmﬁ@m?

1

What,will be get éfter ;atiohélize the denominator of NN 7
TR t2 -4 F @ ' -
@ fwd B wW@
© B - (D) FH q Hg T
Which of the fypc is polyﬁomial t2 =47 :

(A) Binomial = - , (B) Monomial
(C) " Trinomial (D) None of these '

Y
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(4)

6) 5xZ+4x? +7x PO T :

(7)

(8)

9)

(A) 1

A

© e

The dcgree‘df 5x3 + 4)'(2 +7x is:
(A) 1 |

) 3

©99)3 & 9H § :
(A) 970289 |
(C) 970389 .
The value of (99)3 is ;
(A) 970289

(C) 970389 -

64m° - 343n° & THEE ..........

qﬁx—l,pmskxﬁﬁxfl?sr@-gm@s ?r,f?rk%mwﬁrafrr:

(B) af2 # 1"
€ V2 -1

A) V2 +1
€ 2 -1
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(B)

(D)

B)

(D)

B
(D)

(B)

(D)

B 1432

(B)

970299 .

970489

970299 -

970489

~ The factors of 64m° - 343n° are ........... :

®) Z-1
The value of ks, if x - 1 is a factor of ptx) = Jx? —Bx+1 2
p’ - ~1+ 2.
. (D) -2 - L .

1903



1903

(10) (x+ 4) (x+ 10) T IOHET FT & ?

(11)

(12)

. (13)

(14)

Product of (x + 4) (x+ 10) will be what ?
TR x +y = 7 BT TG - B Fpt g T et ¥ 7

The graph of line x +y = 7 intersects the x-axis at which point ? |

HET 2x+ 1 = x+ 3 FH &

oooooooooooo

Bl

4

Solution of equation 2x+ 1 = x+ 3 is e 5

x=2 GTI?I'@ fr&ger -

(A) x-3T & TR ¥

(© T g & & g ¥
Graph of x =2 is a line :
(A) Parallel to x-dxis
(C) Passes through origin

ﬁg(-l,4)ﬁ#—@fﬂgﬁﬂﬁ%?

A) 1

(Q u

Point (-1, 4) lies on which quadrant ?_

(19)

L]

(A) 1
() I

frg (0, -3) e & 7
(A) x-98 T

(C) T&xt =gaiser 7

o 3
Point (0, -3) lies on :

(A) x-axis

(C) 1st quadrant

- (B)

(D)

(B)

(D)

- (B)
(D)

(B)

(D)

(B)

(D)-

®)

(D)

Y-8 & H"ﬂfﬂ'%
7B &

Parallel to y—axis :

None

III

11

y-H& Y

R

'y-axis

2nd quadrant
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(18)

(6) 1903

(16) forg (6, -4) F G X AR oo, ¥ '_ 1
o The abscissa and coordinate of (6, -4) is .......... . _
(17) S8 g 31 7wy o & & Yan sRedRa o ¥ 1

Write the name of the point where these two lines intersect.

qﬁMW“TAABC%_%"fAC'WWﬁ%’@,ﬁTBM=é—: ' 1
(A) AC | (B) AB
(C) BC - | (D) T A P T
If pomt M, is the mld point of hypotenuse AC of r1ght angled A ABC, then
1
BM=— :
3. h
- (A) AC .. . .. (B)"\AB.. |
. (©) BC i Js : (D) None of these
AABC T gweT Bt 2, Rret 24 = 90°aﬁ'{AB AC R ABaﬁ'hr ZC F AW

(19)

(20)

(21)

T B ? _ _ f) e ,

AABC i1s a right angled triangle in which ZA = 90° and AB = AC What is
the value of ZB and LCP : :

mﬁa@ﬁaﬁrﬁﬂwﬁ%mﬁ@ﬂaﬁﬁaﬁ%ﬁﬁﬁ%' .......... X

The trlangle formed by joining the mld -points of the sides of an isosceles

triangle is ....... (L. y

qa;magﬁa%zﬁmqﬁs 4 5: 6%a3maﬁa,ﬁrﬁgﬁﬁ%?mmﬂ:w
B ? 1

(A) 60°;_80°,*100°, 1209
(B) 120°, 100°, 80°, 60°
(C) 120°, 60°, 80°, 100°

(D) 80°, 100°, 120°, 60°
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(22)

The angles of a quadrilateral are in the ratio 3: 4 : 5 : 6. The respective -
angles of the quadrilateral are : ' |

(A) 60°, 80°, 100°, 120°
(B) 120°, 100°, 80°, 60°
(C) 120°, 60°, 80°, 100°

(D) 80°, 100°, 120°, 60°

STHA ¥, F% O 9 T 39 W AW Rig 4, B &R C 30 W@ ¥ B £BoC = 360
T ZAOB = 60° & IR 9N ABC % ofiftw g9 | D @& Rg ¥, & £ADC

In fig., A, Band C are three points on a circle with centre O such that

- £BOC = 30° and ZAOB = 60°. If D is a point on the circle other than the

(23)

arc ABC, then ZADC will be : -

B
A
c
S
. D : :

ﬁmﬁmﬁaﬁgﬁﬁ%%mwﬁﬁ@ﬂwm%? | s A
W . @
C) dW= ) | D) ®

P.T: 0}
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(24)

(29)

(8) _ ' 1903

One and only one circle can pass through from how much non-collincar
points ? )

(A) Three i) (B) Four . |

(C) Five (D) Six

TR & g9 7 0 B @ S e ¥ " , 1

(A) 30°, 40°, 100° B) 60°, 30°, 90° /
(0) 30 30°, 45° 3 (D) & T

In a pair of set sqﬁafg_angle of one triari'glé are :

(A) 30°, 40°, 100° i (B) 60°,30°, 90°

(C) | 30°, 30°,45° . 0 - (-D)' Noﬁe of these

ﬁﬁmmAmeaqﬁwﬁaﬁ%mmmm%mmw

g & ? N : 1

. (26)

1903

(27). T

To draw the perpendicular bisector of the segment AB, we open the

compass how much ?

R BT 1 T & R O BT v mﬁnaﬁm| | :

To construct a triangle we must know at leaslt its .o Sesson PETTS;
ﬁgﬁﬁiﬂaﬁa’raﬂqsaﬁ’rﬁ?ll %ﬂ’r%aﬁrmqﬁwaz%ﬁ% IEH

(A) 4 & LT (B) 13 &

(C) 14 (D) 16¥W

Two sides of a triangle are 8 cm and 11 cm having perimeter 32 cm, then
its semi perimeter is : :
(B) 13 cm )

(D) 16 cim

(A)- 4 cm

(C) 14 cm
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(28)

(29)

(30)

(31)

(32)

(9) ' 1903
wﬁgﬁmg@gaﬁmﬁwa@ms 5 7%@rmwsooﬁoér 36
TES FH &% B o
(A) 150043 #? | (B) 120043 #’

(C) 1800v3 *H? . (D) 16003 #" 2

The sides of a triangular plot are in the ratio of 3 S : 7 and its perimeter
is 300 m that area of plot are :

(A) 150043 m?2 E T | B) 1200‘\‘/5 m?

(C) 18003 m? | (D) 1606J§'m2 _

PREST 1 &% 91 8T o e o ot S a7 41 7 - o

What is the a%ea of é_ triangle when its base and height is known ? -

2 & & T B a aamg@mm.j., ......... e .

If each edge of a cube is q, then t.he surface area of the cube is ....... :

QEE‘?I@IHWS%W%WH'WEHWW: S 1 5

w e @) s |

© 3% D oW

The volume of a sphere is 524 cm? +The diameter of sphcre is :

(A) “4cm - (B) 5cm

(C) 3cm | | (D) 6cm _

gﬁm@qﬁmwaﬁ% maqmaa 1570?4#13% aﬂaﬁeﬂmaﬁrﬁmw
? S |

- The height of a cone is 15 cm. If its volume is 1570cm®, the radius of it

base is ?

» B | - P.T.O.
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(33) A0 W T T AT ... dry - 1

The total surface area of a cylinder is iicivvoivss -

(34) T SgRE WG F MUK B Browr 11.3 TN Yo% zwew @y 355 W Bl @

oA S A - (r =222 i) -
(A)  1‘1' i - | . (B) 9 -
© s s D) 10 o
The base radius of a cone- is 11.3 cm and curved surfacc is 35’5 cm23515ts
" height i ;s, o ' .' . Y (Take © T )

@ tem @ 9em’
(€©) 5cm | Ak . \('p) 10 ;:m_

(35)avf140 1soaﬁra1’rl%|§a ........... %n | s P iy 1
Class mark of class 140- ISOI -1s ........... .

(36}%%%20%&?&?%%(10%%)%?%%%

9,6,59,3,2,7, 7, 6, S5, 4, 9, 10, 10, 3, 4, '7, 6,9,9

._EIEH%GTEEW%_?
®) 7 ¥ , - ® 9
© 3 - - (b) 10
N " £ T A
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(37)

(38)

(1) 1903
The marks (out of 10) obtained by'20 studerits are as follows
9,6,5,9,3,2,7,7,6,5,4,9, 10, 10, 3, 4, 7, 6,9, 9

The modal marks are :

@) 7 | B ©
(C) 3 * | ' (D) 10 _
wmam%mﬂﬁammzﬂaﬁm s g 1

2345013343' R,
ST Tl H S S i

The follomng number of goals were. scored by a team in a series of 10
matches '

2,3,4,5,0, 1,3, 3, 4, 3

Flnd median of these scores.

ﬁmﬁﬁsnom%ﬁwm’wﬁzaﬁaﬁmzoo%ma&mw
g7 i . 1
(A) 3 o L _ ..I_(B) e

@ s S EREE '_(D)i

5 Al n
After rolling a die 500 times the frequcncy of coming 2 is 200. What'is
probability of throwing 2 ? ;

3 | 2

(A) 5 ‘ (B). 5
. = 4.

€ 1 . L | (D) 3

P.T.O.
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(12) 1903

(39) Feell oTevg wewr o ST A o At ¥ 7 om 1
(A) 1 | (B) 0
1
(C) 2 o | : (D) 5
Probability of an impossible event is always :
A 1 : (B) 0
. [ 54
(C) _2 . (D) 5.
(40)wﬁﬁzﬂﬂﬁ%aﬁmsoﬁﬁﬁ 153{1?%%%1%3#@%
BIRET) il Rl ? R s 1

A batsman hits boundnes 15 out of 50 balls What is thc probability that
he will not hit boundary ? ;

| ; SECTION-B
&, oy . | gqUE-q

2. 0.99999 .3 2 %mﬁaﬁiﬁﬁm - = d a8 2

Express 0.99999 in the by £

q I .
3. aﬁmmmmﬂmmw . G A - g
3=2x+y '
Draw the graph df following linéar cquation in two variables :

3=2x+y

4, ﬁmagﬂfsrﬁmﬁﬁamqrﬁg(—2 4), (3 -1), (-1, 0), (1, 2)%%1%?%36{?{
mwﬁwmaﬁwaﬁrmﬁﬁaﬁﬁm _ >

In which quadrant or on Wthh axis do each of the points'(—z, 4), (3, -1),
(-1, 0), (1,2) lie ? Verify your answer by locating them on the Cartesian plane,

1903
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10.

1903

46 1903
@ﬁaﬁa@gmﬁ%gmﬁmw%%ﬁmmmaﬁwmﬁﬁw 2
Find the angles formed at the centre by the sides of regular circular pentagon.

@ﬁﬁeﬁaﬁ@qﬁma@w@ﬁﬂnoﬁﬂﬁﬁmiﬁzﬁrm%fhzsra*qﬁar?r,._
1 R S A | 2

In a cricket match a lady batsman hits a boundary 6 times out of 30 balls the
plays. Find the probability that she will not hit boundary in the next ball.

SECTION-C
"gus-9g.
THETS FHifo ;- i G | 3
x2 +13x2 +32x+20 .
Factorise ;

; _x3_+ 13x2 +32x+20

mmﬁsmm@agammmegoam_a iy B e e "

- Show that the angles of an equilateral triangle are 60° each.

m&mﬂgﬁwﬂﬂﬂagwﬁ%qwﬁgﬁqﬁﬁaﬁmﬁm@w
FatEog Hd & : . 3

" Show that the line segments . Jommg the mid-points of opposite sides of a
quadrilateral bisect each other, '

@'WABC#WWW Bc=3@':ﬁ, 4B=45°G?R‘AB—AC=_ S.Séthal 3

Construct a triangl-e_A'BC‘ in which BC=8 cm, £ZB = 45‘5 and AB-AC=3.5cm,

P.T. 0.
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12.

e = 1903

Waﬂ“iﬁrmmqﬂﬁumﬂ%%wmwaﬂtmﬁ%wmqﬁm
28w 3

Find the area of a triangle two sides of which are 18 cm and 10 cm and the
perimeter is 42 cm. . '

SECTION - D
-7 |

ﬁmwwﬁawmaamww | - 5
() I¥ A YN TR E AR
(i) AT el ST ¥ | |
If two sides of a cyclic quadrilateral are pa}raliel, prove that :
(i) remaining two sides are equal and |
(i) both diagonals are equal

HYA[
OR

wcwﬁgﬁ%ﬁwﬁw CW%IEEUTAB%HEIEIEM?I@WBC%W
ﬂéi@TAczﬁqurqﬁ@'dm%lmﬁgnﬁﬁ

(i) _DWACWWR@%
@) MDLACY¥

]
4

"
(i) CM=MA-= Em_f,e%
ABC is a triangle- right angled at-C.'A line through the mid point M of
hypotenuse AB and parallel to BC intersects AC at D. Show that : '

(i) Disthe mld point of AC

(i) MD.Ll AC

Yo cd S

1903
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13.

14,

1903

(15) : 1903

ﬁﬁfﬂ%@rﬁwgaﬂﬁegmsﬁz%amwﬁaw%%ﬁmm%lsﬂﬁ-@%ﬁa
%225%ﬁx10%tﬁx75arﬁﬁmaﬁmﬁhﬁﬁ=ﬁé?ﬁtaﬁwaﬁ%? 5

The pamt in a certain container is sufficient to paint an area equal to
9.375 m2. How many bricks of dimensions 22.5 cm x 10 cm x 7.5 cm can be
Painted out of this container ?

STerr
OB

tﬂﬁaﬁﬁﬁmmﬁﬁ%w%maﬁwﬁmﬁﬁmwzﬁwmﬁ
%lﬁ%ﬁﬂﬂ?ﬁﬁ%ﬁ?ﬁmﬂmlﬁﬁ%nq&ﬁmﬁmm%ﬁ% ar
TAhS! H I X ABIZE H MG 31 BT

A lead pencil consists of a cylinder of wood with a solid cylinder of graphite

filled in the interior. The diameter of the pencil is 7 mm and diameter of

~ graphite is 1 mm. If the length of the pencil is 14 cm, find the volumes of the

wood and that of the graphite.

‘waﬁwmﬁaﬁﬂmmgﬁ&rmmwﬁhﬁ W%ﬁﬂww%m&r

%wﬁwﬁaﬁmﬁwqﬁlmﬁmoomﬁwmw% 5

0 7 (fflo) | 4000 % FH_| 4000 & 9000 [9001 & 14000| 14000 F s

RER 20 . 210 325 445

A I T A A @ A B, A A B s o A
(i)-4000ﬁ5ﬁﬁ§&aﬁmﬁﬁ%ﬁﬁzﬁmwm?

() ﬁagoooﬁﬁi‘rwﬂmg&mﬁaﬁm?_’ |

(iii) 4000 Bl ST 14000 Pt & 95 g 7 Y 3 T 57 TewT oTEwH B ?

P.T.O.
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A tyre manufacturing company kept a record of the dist

(16)

1903

ance covered before a

tyre needed to be replaced. The table shows the result of 1000 cascs':

Distance (in km)

less than 4000

4000 to 9000

9001 to 14000

.

Morc than 14000

Frequency

20

210

325

445

If you buy a tyré of this company, what is the probability that :

(i) It will need to be replaced before it has covered 4000 km ?

(i)

(i)

km and 14000 km ?

It will last more than 9000 km ?

It will need to be. replaced after it has covered somewhere between 4000
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